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  7EF3M8U 

  ‚¥∑§Á‹Ã ¬⁄UËˇÊÊ -I, 2015-16 

SUMMATIVE ASSESSMENT – I, 2015-16 

ÁflôÊÊŸ / SCIENCE 

∑§ˇÊÊ - IX / Class – IX 

ÁŸœÊÁ̧⁄UÃ ‚◊ÿ — 3 ÉÊá≈U             •Áœ∑§Ã◊ •¥∑§ — 90 

Time Allowed : 3 hours     Maximum Marks : 90 
 

‚Ê◊Êãÿ ÁŸŒ̧‡Ê — 
1. ß‚ ¬˝‡Ÿ ¬òÊ ∑§Ê ŒÊ ÷ÊªÊ¥, ÷Êª-• •ÊÒ⁄U ÷Êª-’ ◊¥ ’Ê¥≈UÊ ªÿÊ „Ò–  •Ê¬∑§Ê ŒÊŸÊ¥ ÷ÊªÊ¥ ∑§ ¬˝‡ŸÊ¥ ∑§ ©ûÊ⁄U Á‹πŸ 

„Ò¥– 
2. ‚÷Ë ¬˝‡Ÿ •ÁŸflÊÿ¸ „Ò¥– 
3. •Ê¬∑§Ê ÷Êª-• •ÊÒ⁄U ÷Êª-’ ∑§ ‚÷Ë ¬˝‡ŸÊ¥ ∑§ ©ûÊ⁄U ¬ÎÕ∑§̃§- ¬ÎÕ∑˜§ Á‹πŸ „Ê¥ª– 
4. ÷Êª-• ∑§ ¬˝‡Ÿ ‚¥ïÿÊ 1 ‚ 3 ∑§ ¬‡̋Ÿ ∞∑§-∞∑§ •¥∑§ ∑§ „Ò¥–  ßŸ∑§ ©ûÊ⁄U ∞∑§ ‡ÊéŒ •ÕflÊ ∞∑§ flÊÄÿ ◊¥ Œ¥– 
5. ÷Êª-• ∑§ ¬˝‡Ÿ ‚¥ïÿÊ 4 ‚ 6 ∑§ ¬‡̋Ÿ ŒÊ- ŒÊ •¥∑§Ê¥ ∑§ „Ò¥–  ßŸ∑§ ©ûÊ⁄U ‹ª÷ª 30-30 ‡ÊéŒÊ¥ ◊¥ Œ¥– 
6. ÷Êª-• ∑§ ¬˝‡Ÿ ‚¥ïÿÊ 7 ‚ 18 ∑§ ¬˝‡Ÿ ÃËŸ- ÃËŸ •¥∑§Ê¥ ∑§ „Ò¥–  ßŸ∑§ ©ûÊ⁄U ‹ª÷ª 50-50 ‡ÊéŒÊ¥ ◊¥ Œ¥– 

7. ÷Êª-• ∑§ ¬˝‡Ÿ ‚¥ïÿÊ 19 ‚ 24 ∑§ ¬˝‡Ÿ ¬Ê°ø-¬Ê°ø •¥∑§Ê¥ ∑§ „Ò¥–  ßŸ∑§ ©ûÊ⁄U ‹ª÷ª 70-70 ‡ÊéŒÊ¥ ◊¥ Œ¥– 

8. ÷Êª-’ ∑§ ¬˝‡Ÿ ‚¥ïÿÊ 25 ‚ 33 ∑§ ¬˝‡Ÿ ¬˝ÿÊªÊà◊∑§ ∑§ÊÒ‡Ê‹ ¬⁄U •ÊœÊÁ⁄UÃ ’„ÈÁfl∑§À¬Ë ¬‡̋Ÿ „Ò¥–  ¬˝àÿ∑§ ¬˝‡Ÿ 
∞∑§-∞∑§ •¥∑§ ∑§Ê „Ò–  ÁŒ∞ ªÿ øÊ⁄U Áfl∑§À¬Ê¥ ◊¥ ‚ •Ê¬∑§Ê ∑§fl‹ ∞∑§ ‚’‚ ©¬ÿÈÄÃ Áfl∑§À¬ øÈŸŸÊ „Ò–  

9. ÷Êª-’ ∑§ ¬˝‡Ÿ ‚¥ïÿÊ 34 ‚ 36 ∑§ ¬‡̋Ÿ ¬˝ÿÊªÊà◊∑§ ∑§ÊÒ‡Ê‹ ¬⁄U •ÊœÊÁ⁄UÃ  ŒÊ- ŒÊ •¥∑§Ê¥ ∑§ „Ò¥– 
 
General Instructions : 
1. The question paper comprises of two Sections, A and B. You are to attempt both the 

sections. 
2. All questions are compulsory 

3. All questions of Section-A and all questions of Section-B are to be attempted separately. 
4. Question numbers 1 to 3 in Section-A are one mark questions.  These are to be answered in 

one word or in one sentence 

5. Question numbers 4 to 6 in Sections-A are two marks questions.  These are to be answered 
in about 30 words each. 

6. Question numbers 7 to 18 in Section-A are three marks questions.  These are to be 
answered in about 50 words each 

7. Question numbers 19 to 24 in Section-A are five marks questions.  These are to be 
answered in about 70 words each. 

8. Question numbers 25 to 33 in Section-B are multiple choice questions based on practical 
skills.  Each question is a one mark question.  You are to select one most appropriate 
response out of the four provided to you. 

9. Question numbers 34 to 36 in Section-B are questions based on practical skills. Each 
question is of two marks. 
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  ÷Êª-• / SECTION-A 

 

 

 1 ¬˝àÿ∑§ ¡ËÁflÃ ∑§ÊÁ‡Ê∑§Ê ∑È§¿U ◊Í‹÷ÍÃ ∑§Êÿ¸ Á∑§‚ ¬˝∑§Ê⁄U ∑§⁄U ¬ÊÃË „Ò¥? 

How is each living cell capable to perform certain basic functions ? 

 

1 

 2 ÿÁŒ Á’¡‹Ë ø◊∑§Ÿ •ÊÒ⁄U ’ÊŒ‹ ª⁄U¡Ÿ ∑§ ◊äÿ ‚◊ÿ •ãÃ⁄UÊ‹ 2 s „Ê, ÃÊ Á’¡‹Ë ∑§Ë ø◊∑§ ∑§ Á’ãŒÈ ∑§Ë ŒÍ⁄UË 

Á∑§ÃŸË „Ò?  flÊÿÈ ◊¥ äflÁŸ ∑§Ë øÊ‹ 346ms−1 „Ò– 

If the time interval between lightning and thunder is 2 seconds, what is the distance of the 

point of lightning.  (Speed of sound in air is  

346 ms−1) 

 

1 

 3 ÿÁŒ Á∑§‚Ë flSÃÈ ∑§Ê Œ˝√ÿ◊ÊŸ ŒÊ ªÈŸÊ ∑§⁄U ÁŒÿÊ ¡Ê∞, ÃÊ Á∑§‚Ë ÁŒ∞ ª∞ ÁŸÁ‡øÃ ’‹ ∑§ ‹ªŸ ‚ ©‚∑§ àfl⁄UáÊ ¬⁄U ÄÿÊ 

¬˝÷Êfl „ÊªÊ? 

If mass of a body is doubled, what will be the effect on its acceleration under the action of 

certain given force ? 

 

1 

 4 •ÊÿÊ«UËŸ Á≈¥UÄø⁄U ÄÿÊ „Ò?  ß‚∑§ Áfl‹ÿ ∞¥fl Áfl‹Êÿ∑§ ∑§Ë ¬„øÊŸ ∑§Á⁄U∞– 

What is tincture of iodine ?  Identify the solute and solvent in it. 

 

2 

 5 ÁŸïŸÁ‹ÁπÃ ∑§ Á‹∞ ∞∑§ ‡ÊéŒ Á‹Áπ∞ — 

(1) ∞∑§‚◊ÊŸ ‚¥⁄UøŸÊ ∑§Ë ∑§ÊÁ‡Ê∑§Ê•Ê¥ ∑§Ê ∞∑§ ‚◊Í„ ¡Ê •Áœ∑§Ã◊ ŒˇÊÃÊ ∑§ ‚ÊÕ ∑§Êÿ¸ ∑§⁄U ‚∑§Ÿ ∑§ Á‹∞ ∞∑§ 

ÁflÁ‡Êc≈U ∑˝§◊ ◊¥ √ÿflÁSÕÃ „ÊÃ „Ò¥– 

(2) ∞∑§ ÁflÁ‡Êc≈U ∑§Êÿ ̧∑§⁄UŸ ∑§ Á‹∞ SÕÊÿË M§¬ •ÊÒ⁄U •Ê∑§Ê⁄U ‹Ÿ ∑§Ë ¬Á̋∑§̋ÿÊ– 

(3) ¡ãÃÈ ™§Ã∑§ ¡Ê ◊Ê¥‚¬Á‡ÊÿÊ¥ ∑§Ê •ÁSÕÿÊ¥ ‚ ¡Ê«∏ÃÊ „Ò– 

(4) flÎÄ∑§ ∑§ •Ê∑§Ê⁄U ∑§Ë ∑§ÊÁ‡Ê∑§Ê∞° ¡Ê ⁄¥Uœ˝ ∑§Ê ÉÊ⁄U ⁄U„ÃË „Ò¥–  

Give one word for the following : 

(1) Group of cells with similar structure and designed to give highest  efficiency of 

function. 

(2) The process of taking up a permanent shape, size and function. 

(3) Animal tissue connecting muscle to bones. 

(4) Kidney shaped cells that enclose stomata. 

 

2 

 6 (a) ‘F’ ∑§ ‚¥Œ÷¸ ◊¥ ‘G’ ∑§Ê √ÿ¥¡∑§ √ÿÈà¬ÛÊ ∑§ËÁ¡ÿ– 

(b) ¬ÎâflË ∑§Ë ÃÈ‹ŸÊ ◊¥ ø¥Œ◊̋Ê ¬⁄U Á∑§‚Ë flSÃÈ ∑§Ê ÷Ê⁄U ∑§◊ ÄÿÊ¥ „Ê ¡ÊÃÊ „Ò? 

(a) Derive the expression for ‘G’ with respect to ‘F’. 

(b) Why the weight of any object becomes less on moon as compared to the earth ? 

 

2 
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 7 Á∑§‚Ë Áfl‹ÿŸ ∑§Ë ‚Ê¥Œ˝ÃÊ ‚ •Ê¬∑§Ê ÄÿÊ •Á÷¬Ê̋ÿ „Ò? Áfl‹ÿŸ ∑§Ë ‚Ê¥Œ˝ÃÊ ∑§Ê Œ‡ÊÊ¸Ÿ ∑§Ë ŒÊ ÁflÁœÿÊ° ‚◊¤ÊÊßÿ–  

What do you mean by concentration of a solution ?  Mention two ways, of expressing the 

concentration of a solution. 

 

3 

 8 Ã¡ œÍ¬ flÊ‹ ª◊¸ ÁŒŸ ∑§ ’ÊŒ ¡’ „◊ ¿UÃ ¬⁄U ¡‹ Á¿U«∏∑§Ã „Ò¥ ÃÊ ∑È§¿U ‚◊ÿ ’ÊŒ „◊¥ ‡ÊËÃ‹ ∑§Ê •ŸÈ÷fl „ÊÃÊ „Ò– 

ß‚∑§Ê ∑§Ê⁄UáÊ Á‹Áπ∞– 

After a hot sunny day when we sprinkle water on roof we feel cool.  Explain the reason for it. 
 

3 

 9 (a) ¬ŒÊÕ¸ ∑§Ê ¬Á⁄U÷ÊÁ·Ã ∑§ËÁ¡∞ ÃÕÊ ß‚∑§Ë ÃËŸ •flSÕÊ•Ê¥ ∑§ ŸÊ◊ Á‹Áπ∞– 
(b) S¬C ∑§ËÁ¡∞ Á∑§ Á∑§‚ ¬˝∑§Ê⁄U ¬ŒÊÕ¸ ∑§Ë ÿ •flSÕÊ∞¥ ©Ÿ∑§ ∑§áÊÊ¥ ∑§Ë ÁflÁ÷ÛÊ Áfl‡Ê·ÃÊ•Ê¥ ∑§ ∑§Ê⁄UáÊ „ÊÃË „Ò¥– 

(a) Define matter and write its three states.  
(b) Explain how these states of matter arise due to variation in the characteristics of the 
particles. 
 

3 

 10 ÁŸïŸÁ‹ÁπÃ ‚ÊÁ⁄UáÊË ◊¥ ¬ÊŒ¬ ∑§ÊÁ‡Ê∑§Ê ∑§ ‚¥Œ÷ ̧ ◊¥ A, B, C, D, E ÃÕÊ F ∑§Ë ¬ÍÁÃ̧  

∑§ËÁ¡∞ — 
 

Áfl‹ÿŸ ∑§Ê ¬˝∑§Ê⁄U ’Ê±ÿ ◊Êäÿ◊ ¬Á⁄UáÊÊ◊ ∑§Ê⁄UáÊ 

•ÁÃ¬⁄UÊ‚⁄UáÊŒÊflË A ∑§ÊÁ‡Ê∑§Ê Á‚∑È§«∏ ¡ÊÃË „Ò– ¡ËflŒ˝√ÿ ∑È¥§øŸ 

B ‚◊ÊŸ ‚Ê¥Œ˝áÊ C E 

•À¬¬⁄UÊ‚Ê⁄UË ÃŸÈ Áfl‹ÿŸ D F 

 

With reference to the size of the plant cell fill A, B, C, D, E and F in the following table. 

Solution Type Outside Medium Result Cause 

Hypertonic A Cell shrinks Plasmolysis 

B Same concentration C E 

Hypotonic dilute solution D F 
. 

 

 

3 

 11 (a) SŸÊÿÈ ÃÕÊ ∑¥§«U⁄UÊ ◊¥ Áfl÷ŒŸ ∑§ËÁ¡∞– 

(b) fl‚Ê◊ÿ ™§Ã∑§ ∑§Ê ¬˝∑§Êÿ¸ Á‹Áπ∞– 

(a) State the difference between tendon and ligament. 

(b) Give the function of adipose tissue. 

 

3 

 12 ᳰकसी व᭭तु के जड़᭜व पर िन᳜ का ᭍या ᮧभाव होगा? 

(a) यᳰद बल दोगुना कर ᳰदया जाए। 
(b) यᳰद घन᭜व आधा कर ᳰदया जाए। 
(c) यᳰद •ÊÿÃŸ एक-ितहाई कर ᳰदया जाए। 

3 
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What are the effects of the following on inertia of a body? 

(a) If force is doubled 

(b) If density is halved 

(c) If volume is reduced to one thrid  

 

 13 ŸåøÍŸ ¬⁄U ªÈL§àflÊ∑§·̧áÊ ’‹ ¬ÎâflË ∑§ ªÈL§àflÊ∑§·¸áÊ ’‹ ∑§ •ŸÈ¬ÊÃ ◊¥ 9 : 8 „Ò–  ⁄U◊‡Ê ∑§Ê ÷Ê⁄U ¬ÎâflË ¬⁄U 792 N „Ò–  

ŸåøÍŸ ¬⁄U ©‚∑§Ê ÷Ê⁄U ¬Á⁄U∑§Á‹Ã ∑§ËÁ¡ÿ– 

The ratio of the gravitational force on Neptune to the gravitational force on earth is 9:8. Ramesh 

weighs 792N on Earth. Calculate his weight on Neptune?  

 

3 

 14 (a) ©Ÿ ⁄UÊÁ‡ÊÿÊ¥ ∑§Ê ŸÊ◊ Á‹Áπ∞ Á¡ã„¥ ÁŸïŸ ª˝Ê$»§ mÊ⁄UÊ ÉÊ⁄U ª∞ ˇÊòÊ»§‹ mÊ⁄UÊ ◊Ê¬Ê ¡ÊÃÊ  

„Ò — (i) ŒÍ⁄UË-‚◊ÿ ª̋Ê$»§   (ii) flª-‚◊ÿ ª̋Ê$»§ 

(b) ∞∑§ Á¬¥«U ∑§Ë ªÁÃ ∑§Ê ŒÍ⁄UË-‚◊ÿ ª˝Ê$»§, ‚◊ÿ •ˇÊ ∑§ ‚◊ÊãÃ⁄U ∞∑§ ‚⁄U‹ ⁄UπÊ „Ò–  ß‚∑§Ë ªÁÃ ∑§Ë ¬˝∑Î§ÁÃ 

Á‹Áπ∞– 

(a) Name the quantities which are measured by the area occupied in the graphs given below : 

 (i) distance – time graph  (ii) velocity – time graph. 

(b) Mention the nature of the motion of a body whose distance – time graph is a straight line 

parallel to the time axis ? 

 

3 

 15 ©‚ ’‹ ∑§Ê ¬„øÊÁŸ∞ •ÊÒ⁄U ‚◊¤ÊÊß∞ Á∑§ ÿ„ Á∑§‚ ¬∑̋§Ê⁄U — 

(i) ‚ÊÒ⁄U ¬Á⁄UflÊ⁄U ∑§Ê ’ŸÊ∞ ⁄UπŸ ∑§ Á‹∞ ©ûÊ⁄UUŒÊÿË „Ò– 

(ii) ¬ÎâflË ∑§Ê ‚Íÿ¸ ∑§ øÊ⁄UÊ¥ •Ê⁄U øÄ∑§⁄U ‹ªÊŸ ∑§ Á‹∞ ©ûÊ⁄UŒÊÿË „Ò– 

Identify the force and explain how : 

(i) it is responsible for holding the solar system together. 

(ii) it is responsible for the earth revolving round the sun. 

 

3 

 16 m1 ÃÕÊ m2 Œ√̋ÿ◊ÊŸ ∑§Ë ŒÊ ª¥ŒÊ¥ A ÃÕÊ B ∑§Ë ≈UÄ∑§⁄U ◊¥ ‚¥flª ‚¥⁄UˇÊáÊ ∑§Ê ÁŸÿ◊ ‚◊¤ÊÊß∞–  

Explain conservation of momentum in collision of two balls A and B of masses m1 and m2. 

 

3 

 17 ‚Ê„ŸÊ¬È⁄U ªÊ°fl ◊¥ πÃË  fl·Ê¸ ¡‹ ¬⁄U ÁŸ÷¸⁄U ∑§⁄UÃË ÕË •ÊÒ⁄U ªÊ°fl flÊ‹ ◊ÊŸ‚ÍŸ ∑§Ë ∑Î§¬Ê ∑§ ÷⁄UÊ‚ ⁄„Ã Õ–  •¬Ÿ πÃË 

∑§Ê Ÿc≈U „ÊŸ ‚ ’øÊŸ ∑§ Á‹∞ ©ã„Ê¥Ÿ ß‚∑§ ’Ê⁄U ◊¥ ¬¥øÊÿÃ ◊¥ ’ÊÃ ∑§Ë •ÊÒ⁄U fl·Ê¸ ∑§ ÷ªflÊŸ ∑§Ê ¬‚̋ãŸ ∑§⁄UŸ ∑§ Á‹ÿ 

„flŸ ∑§⁄UŸ ∑§Ê ÁŸáÊ¸ÿ Á∑§ÿÊ–  ⁄UÊ∑§‡Ê, ¡Ê Á∑§ ∑§ˇÊÊ IX ∑§Ê ¿UÊòÊ ÕÊ ©‚Ÿ ©ã„¥ ¡‹ ∑§Ê ’øÊŸ ∑§ ∞‚ ©¬Êÿ •¬ŸÊŸ 

∑§Ê ∑§„Ê Á¡‚‚ ÷Áflcÿ ◊¥ πÃË ∑§ Ÿc≈U „ÊŸ ∑§Ë •Ê‡Ê¥∑§Ê Ÿ ⁄U„– 

(i) ÿÁŒ Á∑§‚Ë ªÊ°fl ◊¥ ¬Í⁄U fl·¸ fl·Ê¸ ∑§◊ „ÊÃË „Ê ÃÊ Á∑§ã„Ë¥ ∞‚ ŒÊ ©¬ÊÿÊ¥ ∑§Ë ‚ÍøË ’ŸÊßÿ Á¡Ÿ‚ Á∑§‚ÊŸ 

÷Áflcÿ ◊¥ πÃË ∑§Ê Ÿc≈U „ÊŸ ‚ ’øÊ ‚∑§Ã „Ò¥– 

(ii) Á‚¥øÊß¸ ∑§ Á‹∞ ¡‹ ’øÊŸ ∑§ ŒÊ ¬Ê⁄Uï¬Á⁄U∑§ Ã⁄UË∑§ Á‹Áπÿ– 

3 
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(iii) ⁄UÊ∑§‡Ê ∑§ Á∑§Ÿ ŒÊ ªÈáÊÊ¥ Ÿ ©‚ ªÊ°fl flÊ‹Ê¥ ∑§Ë ∑§Á∆UŸ ‚◊ÿ ◊¥ ‚Ê◊ŸÊ ∑§⁄UŸ ◊¥ ◊ŒŒ ∑§Ë? 

In Sohnapur, a small village, crops were dependent on rain.  Villagers were at the mercy of 

monsoon.  To prevent crop failure they discussed the matter in the panchayat and wanted to 

do some havan to appease Rain Gods.  But Rakesh who was studying in class IX, advised all 

of them to adopt measures for conserving water and stop crop failure. 

(i) If there is low rainfall in a village throughout the year.  List at least two measures by 

which farmers can prevent crop failure in future. 

(ii) List two traditional ways of conserving water for irrigation. 

(iii) Which two traits of Rakesh have helped the villagers to sail through the difficult times 

? 

 

 18 Á◊Áo˝Ã ◊¿U‹Ë ‚¥flœ¸Ÿ ∑§Ê fláÊŸ̧ ∑§ËÁ¡∞–  Á◊Áo˝Ã ◊¿U‹Ë ‚¥flœ¸Ÿ ∑§ ŒÊÒ⁄UÊŸ ∑§ÊÒŸ ‚Ê ÁflÁ‡Êc≈UU ¬˝Êø‹ ∑§Ê äÿÊŸ ◊¥ ⁄UπÊ 

¡ÊÃÊ „Ò? 

Explain composite fish culture.  Which special parameter is to be kept in mind during 

composite fish culture ? 

 

3 

 19 •Ê¬ ‹Ê‹ ÃÕÊ ŸË‹Ë SÿÊ„Ë ∑§ Á◊üÊáÊ ∑§Ê ∑Ò§‚ ¬ÎÕ∑§ ∑§⁄¥Uª?  ©¬ÿÊª ∑§Ë ¡ÊŸ flÊ‹Ë ÁflÁœ ∑§Ê ŸÊ◊ Á‹Áπÿ–  ∞∑§ 

÷‹Ë-÷Ê°ÃË ŸÊ◊Ê¥Á∑§Ã ÁøòÊ ’ŸÊßÿ •ÊÒ⁄U √ÿÊïÿÊ ∑§ËÁ¡ÿ– 

How will you separate a mixture of red and blue ink ? Name the technique used.  Draw a 

labelled diagram and explain it. 

 

5 

 20 (a) Á∑§ã„Ë¥ ŒÊ ¬Á̋∑§̋ÿÊ•Ê¥ ∑§ ŸÊ◊ Á‹Áπ∞ ¡Ê ÿ„ √ÿÊïÿÊ ∑§⁄UÃË „Ò¥ Á∑§ ¬ŒÊÕ¸ ∑§ ÃÊ¬◊ÊŸ ∑§Ê ’…∏ÊŸ ‚ ©‚∑§ ∑§áÊÊ¥ 

∑§Ë ªÁÃ ◊¥ flÎÁh „Ê ¡ÊÃË „Ò– 

(b) Ã⁄U‹ÃÊ ∑§Ê ¬Á⁄U÷ÊÁ·Ã ∑§ËÁ¡∞–  S¬c≈U ∑§ËÁ¡∞ Á∑§ Œ˝flÊ¥ ◊¥ Ã⁄U‹ÃÊ ÄÿÊ¥ „ÊÃË „Ò? 

(a) Name any two processes which illustrate that on heating movement of  particles of 

matter increases. 

(b) Define fluidity.  Explain why do liquids flow ? 
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 21 ÁŸïŸÁ‹ÁπÃ ∑§Ê ◊„àfl ‚◊¤ÊÊß∞ — 

(a) ∞¬Ë«U◊¸‹ ∑§ÊÁ‡Ê∑§Ê•Ê¥ ¬⁄U ’Ê‹ ¡Ò‚ ¬˝flœ¸ – 

(b) ◊L§SÕ‹Ëÿ ¬ÊÒœÊ¥ ∑§Ë ’Ê„⁄UË ‚Ã„ flÊ‹ ∞¬Ë«UÁ◊‚̧ ◊¥ ÄÿÍÁ≈UŸ ∑§Ê ‹¬– 

(c) ¬ûÊË ∑§Ë ∞¬Ë«UÁ◊‚̧ ◊¥ ¿UÊ≈U-¿UÊ≈U Á¿UŒ˝– 

(d) ∑Ò§Ä≈U‚ ¬ÊÒœÊ¥ ◊¥ ∞¬Ë«UÁ◊‚̧ ∑§Ë ∑§ß ̧¬⁄UÃ¥–  

(e) ∑§ÊÚ∑§̧ ∑§ÊÁ‡Ê∑§Ê•Ê¥ ◊¥ ⁄U‚ÊÿŸ ‚È’Á⁄UŸ ∑§Ë ©¬ÁSÕÁÃ–  

5 
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Explain the significance of the following : - 

(a) hair like, structures on epidermal cells. 

(b) Epidermis has a thick waxy coating of cutin in desert plants. 

(c) Small pores in epidermis of leaf. 

(d) numerous layers of epidermis in cactus. 

(e) presence of a chemical suberin in cork cells. 

 

 22 (a) ∞∑§ ‚◊ÊŸ øÊ‹ ∑§ Á‹∞ flSÃÈ ∑§Ê flª-‚◊ÿ ª˝Ê$»§ πË¥Áø∞–  Œ‡ÊÊ¸ß∞ Á∑§ flª-‚◊ÿ ª˝Ê$»§ ∑§Ê …‹ÊŸ flSÃÈ 

∑§Ê àfl⁄UáÊ „Ò– 

(b) ∞∑§ „flÊß¸ ¡„Ê¡ Áfl⁄UÊ◊ÊflSÕÊ ‚ 3 ms−2 ∑§ àfl⁄UáÊ ∑§ ‚ÊÕ ø‹ŸÊ ¬Ê̋⁄¥U÷ ∑§⁄UÃÊ „Ò •ÊÒ⁄U ©«∏Ÿ ‚ ¬„‹ 35 s 

ŒÊÒ«∏ÃÊ „Ò–  ⁄UŸfl ∑§Ë ãÿÍŸÃ◊ ‹ï’Êß ̧ÄÿÊ „Ò?  ÃÕÊ Á∑§‚ flª ‚ ¡„Ê¡ Ÿ ©«∏ÊŸ ÷⁄UË? 

(a) Draw a velocity-time graph for an object in uniform motion.  Show that the slope of 

the velocity-time graph gives the acceleration of the object. 

(b) An aeroplane starts from rest with an acceleration of 3 ms−2 and takes a run for 35 s 

before taking off.  What is the minimum length of the runway and with what velocity the 

plane took off ? 
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 23 (a) ‚¥flª ∑§Ë ¬Á⁄U÷Ê·Ê ŒËÁ¡∞–  ß‚∑§Ê SI ◊ÊòÊ∑§ √ÿÈà¬ãŸ ∑§ËÁ¡∞–  ’‹ ∑§Ê ‚¥flª ∑§ ¬ŒÊ¥ ◊¥ Á∑§‚ ¬˝∑§Ê⁄U √ÿÄÃ 

Á∑§ÿÊ ¡ÊÃÊ „Ò? 

(b) ŒÊ ª¥Œ A •ÊÒ⁄U B Á¡Ÿ∑§ Œ˝√ÿ◊ÊŸ ∑˝§◊‡Ê— 'm' •ÊÒ⁄U '2m' „Ò¥, ∑§̋◊‡Ê— 2v •ÊÒ⁄U 1 v flª ‚ ªÁÃ◊ÊŸ „Ò¥–  ßŸ∑§ — 

 (i) ¡«∏àflÊ¥ •ÊÒ⁄U 

 (ii) ‚¥flªÊ¥ ∑§Ë ÃÈ‹ŸÊ ∑§ËÁ¡∞– 

(a) Define momentum.  Derive its SI unit.  How is force expressed in terms of momentum ? 

(b) Two balls A and B of masses 'm' and '2m' are in motion with velocities 2v and 1 v respectively.  

Compare : 

 (i) their inertia 

 (ii) their momentum  

 

5 

 24 (a) ‚◊ÈŒ ̋‚ ◊¿U‹Ë ¬∑§«∏Ÿ ∑§ Á‹∞ ŒÊ ÁflÁœÿÊ° ∑§Ê ©À‹π ∑§ËÁ¡∞–  

(b) ÄÿÊ ◊¿U‹Ë ¬∑§«∏Ÿ ∑§Ê •Õ¸ ∑§fl‹ ¬πÿÈÄÃ ◊¿U‹Ë „ÊÃÊ „Ò?  ◊¿UÁ‹ÿÊ¥ ∑§ •ÁÃÁ⁄UÄÃ ŒÊ •ÊÒ⁄U ‚◊ÈŒË̋ ¡ËflÊ¥ 

∑§ ŸÊ◊ Á‹Áπ∞ Á¡Ÿ„¥ ¬∑§«∏Ê ¡ÊÃÊ „Ò–  

(c) πÈ‹ ‚◊ÈŒ ̋◊¥ ◊¿UÁ‹ÿÊ¥ ∑§ ’«∏ ‚◊Í„ ∑§Ê ¬ÃÊ Á∑§‚ ¬˝∑§Ê⁄U ‹ªÊÿÊ ¡Ê ‚∑§ÃÊ „Ò?  

(a) Mention two ways of obtaining fish from the sea. 

(b) Does fishery mean obtaining only finned fish ?  Name two more sea animals which 

captured other than true fishes? 

(c) How large schools of fish in open sea are located?  
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 25 ∞∑§ ¿UÊòÊ Ÿ ¬⁄UπŸ‹Ë A ◊¥ ‹Ë ªß¸ •¬Á◊ÁüÊÃ ŒÊ‹ ◊¥ ŒÊ ’¥ÍŒ ‚ÊãŒ ̋„Êß«˛UÊÄ‹ÊÁ⁄U∑§ •ï‹ ∑§Ë «UÊ‹Ë¥–  ŒÍ‚⁄U ¿UÊòÊ Ÿ 

¬⁄UπŸ‹Ë B ◊¥ ©‚Ë ŒÊ‹ ∑§ Ÿ◊ÍŸ ∑§Ê ‚ÊãŒ˝ „Êß«˛UÊÄ‹ÊÁ⁄U∑§ •ï‹ ◊¥ «UÊ‹Ê–  fl ¬˝ÁˇÊÃ ∑§⁄¥Uª —  

(a) ¬⁄UπŸ‹Ë A ◊¥ ªÈ‹Ê’Ë ⁄¥Uª ∑§Ê ¬˝∑§≈U „ÊŸÊ– 

(b) Á∑§‚Ë ÷Ë ¬⁄UπŸ‹Ë ◊¥ ∑§Êß ̧⁄¥Uª ¬Á⁄UflÃ¸Ÿ Ÿ„Ë¥– 

(c) ¬⁄UπŸ‹Ë B ◊¥ ªÈ‹Ê’Ë ⁄¥Uª ∑§Ê ¬∑̋§≈U „ÊŸÊ– 

(d) ŒÊŸÊ¥ ¬⁄UπŸÁ‹ÿÊ¥ A ÃÕÊ B ◊¥ ªÈ‹Ê’Ë ⁄¥Uª ∑§Ê ¬˝∑§≈U „ÊŸÊ– 

A student added two drops of conc hydrochloric acid to adulterated dal in test tube A. 

Another student added a little sample of same dal to conc. hydrochloric acid in test tube B. 

They would observe :  

(a) appearance of pink colour in any test A. 

(b) no change of colour in any test tube. 

(c) appearance of pink colour in test tube B. 

(d) appearance of pink colour in test tubes A and B. 
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 26 ŸËø ∑È§¿U ÷Êíÿ ¬ŒÊÕÊZ ∑§ Ÿ◊ÍŸ ÁŒ∞ ª∞ „Ò¥– fl„ ÷Êíÿ ¬ŒÊÕ ̧¡Ê ∞∑§ ∑§Ê’Ê¸„Êß«˛≈U „Ò fl„ „Ò — 
(a) ‡Ê∑§̧⁄UÊ    (b) S≈UÊø¸ 
(c) ‚ÒÀÿÍ‹Ê$¡   (d) ™§¬⁄U ÁŒ∞ ª∞ ‚÷Ë 
Some samples of food materials are given below.  The food material which is a carbohydrate 
is : 
(a) sugar    (b) starch 
(c) cellulose   (d) all of the above 
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 27 flÊø Ç‹Ê‚ ◊¥ ⁄Uπ •Êÿ⁄UŸ ‚À»§Êß«U ∑§ ‚◊Ë¬ ¡’ øÈï’∑§ ‹ÊÿË ¡ÊÃË „Ò, ÃÊ — 

 
(a) •Êÿ⁄UŸ ∑§ ∑§áÊ øÈï’∑§ ∑§Ë •Ê⁄U ªÁÃ ∑§⁄UÃ „Ò– 

(b) •Êÿ⁄UŸ ‚À»§Êß«U ∑§ ∑§áÊ øÈï’∑§ ∑§Ë •Ê⁄U ªÁÃ ∑§⁄UÃ „Ò– 

(c) ‚À$»§⁄U ∑§ ∑§áÊ øÈï’∑§ ∑§Ë •Ê⁄U ªÁÃ ∑§⁄UÃ „Ò¥–  

(d) •Êÿ⁄UŸ ‚À»§Êß«U ¬⁄U ∑§Êß ̧¬÷̋Êfl Ÿ„Ë¥ „ÊÃÊ „Ò– 

When a magnet is brought near iron sulphide taken in a watch glass ? 

 
(a) Particles of iron move towards the magnet. 

(b) Particles of iron sulphide move towards the magnet. 

1 
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(c) Particles of sulphur move towards the magnet. 

(d) No effect on iron sulphide. 

 

 

 28 ∑§Ê’¸Ÿ «UÊß‚À»§Êß«U ∑§Ê íflÊ‹Ê/‹ÊÒ ‚ ŒÍ⁄U ⁄UπŸÊ øÊÁ„∞, ÄÿÊ¥Á∑§ — 

(a) ÿ„ ∞∑§ Áfl·Ò‹Ê Œ˝fl „Ò– 

(b) ÿ„ Œ„Ÿ ◊¥ ‚„Êÿ∑§ „Ò– 

(c) ÿ„ ífl‹Ÿ‡ÊË‹ Œ˝fl „Ò– 

(d) ÿ„ ‚¥ˇÊÊ⁄U∑§ „Ò– 

Carbon disulphide should be kept away from the flame as : 

(a) It is a toxic liquid. 

(b) It is a supporter of combustion. 

(c) It is a combustible liquid. 

(d) It is corrosive. 
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 29 ‚ÊÁ«Uÿ◊ ‚À»§≈U ÃÕÊ ’Á⁄Uÿ◊ Ä‹Ê⁄UÊß«U ∑§Ê Á◊ÁüÊÃ ∑§⁄UŸ ¬⁄U ∞∑§ ‚»§Œ •ÉÊÈ‹Ÿ‡ÊË‹ ¬ŒÊÕ¸ ’ŸÃÊ „Ò, ÿ„ Á∑§‚ ¬˝∑§Ê⁄U 

∑§Ê ¬Á⁄UflÃ¸Ÿ „Ò? 

(a) ÷ÊÒÁÃ∑§ ¬Á⁄UflÃ¸Ÿ– 

(b) ÷ÊÒÁÃ∑§ ÃÕÊ ⁄UÊ‚ÊÿÁŸ∑§ ŒÊŸÊ¥ ¬∑̋§Ê⁄U ∑§Ê ¬Á⁄UflÃ¸Ÿ– 

(c) ⁄UÊ‚ÊÿÁŸ∑§ ¬Á⁄UflÃ¸Ÿ– 

(d) ŸÊ „Ë ÷ÊÒÁÃ∑§ ÃÕÊ ŸÊ „Ë ⁄UÊ‚ÊÿÁŸ∑§ ¬Á⁄UflÃ¸Ÿ– 

 

On mixing sodium sulphate and barium chloride solution together a white insoluble 

substance is formed.  This is an example of : 

(a) Physical change. 

(b) Physical and chemical changes both. 

(c) Chemical change. 

(d) Neither chemical change nor physical change. 
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 30 •ŸÍ¬ Ÿ ◊ÊŸfl ∑§¬Ê‹ ∑§ÊÁ‡Ê∑§Ê ÃÕÊ åÿÊ$¡ ∑§Ë Á¤ÊÀ‹Ë ∑§Ë ∑§ÊÁ‡Ê∑§Ê ∑§ ’Ê⁄U ◊¥ •¬Ÿ ¬˝ˇÊáÊ ŸËø ‚Ê⁄UáÊË’h Á∑§ÿ •ÊÒ⁄U 
•¬Ÿ •äÿÊ¬∑§ ∑§Ê ÁŒπÊ∞ — 
∑˝§◊Ê¥∑§ ∑§¬Ê‹ ∑§ÊÁ‡Ê∑§Ê åÿÊ$¡ ∑§Ë Á¤ÊÀ‹Ë 
(i) ⁄¥U¡∑§ ªÈ‹Ê’Ë ŸË‹Ê 
(ii) ∑§ãŒ˝∑§ ©¬ÁSÕÃ ©¬ÁSÕÃ 

(iii) ⁄U‚œÊŸË ∑§ãŒ ̋◊¥ ÁSÕÃ ∑È§¿U „Ë Á’π⁄UË „Èß ̧ 
(iv) ∑§ÊÁ‡Ê∑§Ê Á÷ÁûÊ •ŸÈ¬ÁSÕÃ ©¬ÁSÕÃ 

©‚∑§ ¬˝ˇÊáÊÊ¥ ◊¥ ∑§ÊÒŸ ‚ ŒÊ ¬˝ˇÊáÊ ª‹Ã „Ò¥ — 
(a) (i), (ii)    (b) (i), (iii)   
(c) (ii), (iv)   (d) (iii), (iv) 
Anoop tabulated his observations about the cheek cells and onion cells as given below : 

1 
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Sl. No. Cheek cell Onion cell 

(i) Stain Pink Blue 
(ii) Nucleus Present Present 

(iii) Vacuole Centrally 
located 

Few, scattered 

(iv) Cell wall Absent Present 

and showed it to his teacher. Two of his observations were wrong. Which ones are they ? 
(a) (i), (ii)    (b) (i), (iii)   
(c) (ii), (iv)   (d) (iii), (iv) 

 

 

 31 ‚Íˇ◊Œ‡ÊË ̧ ∑§ ŸËø ŒπŸ ¬⁄U ∞∑§ SÕÊÿË S‹Êß«U ¬⁄U Áfll◊ÊŸ ¬ŒÊÕ¸ ◊¥ „‹∑§ ÃÕÊ ª„⁄U ⁄¥UªÊ¥ ◊¥ ∞∑§ ∑§ ’ÊŒ ∞∑§ 

œÊÁ⁄UÿÊ°, ’„È∑§ÁãŒ˝∑§, ‡ÊÊπÊ⁄UÁ„Ã ∑§ÊÁ‡Ê∑§Ê∞° „Ò¥–  ÿ„ „Ò — 

(i) Ã¥ÁòÊ∑§Ê ∑§ÊÁ‡Ê∑§Ê   (ii) ¬Ò⁄Uã∑§Êß◊Ê 

(iii) ⁄UÁπÃ ¬‡ÊË   (iv) SÄ‹⁄¥U∑§Êß◊Ê 

On viewing under a microscope, the material in the permanent slide shows alternating light 

and dark bands with multinucleate and unbranched cells.  It is :-  

(i) nerve cell   (ii) parenchyma 

(iii) striated muscle  (iv) sclerenchyma 
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 32 ∞∑§ Á◊üÊáÊ ◊¥ •ÊÿÊÁ«UŸ, •◊ÊÁŸÿ◊ Ä‹Ê⁄UÊß«U ÃÕÊ ’Ê‹Í Áfll◊ÊŸ „Ò¥–  ∑§fl‹ •ÊÿÊÁ«UŸ ÃÕÊ •◊ÊÁŸÿ◊ Ä‹Ê⁄UÊß«U 

™§äfļ¬ÊÁÃÃ „ÊÃ „Ò¥–  ∑§fl‹ •ÊÿÊÁ«UŸ ∑§Ê’¸Ÿ ≈ÒU≈˛UÊÄ‹Ê⁄UÊß«U ◊¥ ÉÊÈ‹Ÿ‡ÊË‹ „Ò–  ÃËŸÊ¥ ÉÊ≈U∑§Ê¥ ∑§Ê •Ê¬ Á∑§‚ ¬˝∑§Ê⁄U 

¬ÎÕ∑§ ∑§⁄¥Uª? ø⁄UáÊÊ¥ ∑§Ê ∑§̋◊ „ÊªÊ —  

(a) ™§äfļ¬ÊÃŸ, ∑§Ê’¸Ÿ≈ÒU≈˛UÊÄ‹Ê⁄UÊß«U «UÊ‹ŸÊ 

(b) ∑§Ê’¸Ÿ ≈ÒU≈˛UÊÄ‹Ê⁄UÊß«U «UÊ‹ŸÊ, ÁŸSÿ¥ŒŸ,™§äfļ¬ÊÃŸ 

(c) ™§äfļ¬ÊÃŸ, ¡‹ «UÊ‹ŸÊ, ÁŸSÿ¥ŒŸ 

(d) flÊc¬Ë∑§⁄UáÊ, •Ê‚flŸ, Á∑§̋S≈U‹Ë∑§⁄UáÊ 

A mixture contains iodine, ammonium chloride and sand.  Only iodine and ammonium 

chloride sublimate.  Only iodine dissolves in carbon tetra chloride.  How will you separate 

the three components ? Sequence of steps will be :  

(a) Sublimation, addition of CCl4. 

(b) Addition of CCl4 , filtration, sublimation. 

(c) Sublimation, addition of H2O, filtration.  

(d) evaporation, distillation, crystallization.  
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 33 ∑§◊ŸÊËŒÊ⁄U ÃÈ‹Ê Á¡‚ Á‚hÊ¥Ã ¬⁄U ∑§Êÿ ̧∑§⁄UÃË „Ò fl„ „Ò — 
(a) ãÿÍ≈UŸ ∑§Ê ªÁÃ ∑§Ê ¬Õ̋◊ ÁŸÿ◊ 

(b) ãÿÍ≈UŸ ∑§Ê ªÁÃ ∑§Ê ÁmÃËÿ ÁŸÿ◊ 

(c) ãÿÍ≈UŸ ∑§Ê ªÁÃ ∑§Ê ÃÎÃËÿ ÁŸÿ◊ 

(d) ™§¬⁄U ÁŒ∞ ª∞ ‚÷Ë 
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The spring balance works on the principle of  : 
(a) Newton's first law of motion 
(b) Newton's second  law of motion 
(c) Newton's third law of motion 
(d) All of the above 
 

 34 jsr] øÊ∑ ¬Ê©«⁄ vkSj lk/kj.k ued ds feJ.k dks ty esa ?kksyk x;k vkSj fiQj bldk fuL;anu fd;k x;kA 

fiQYVj i=k ij izkIr gksus okys inkFkZ dk uke fyf[k,A Nus gq, ty esa fo|eku inkFkZ dk uke fyf[k,A 

A mixture of sand, chalk powder and common salt is dissolved in water and then filtered. 

Name the substance left on filter paper. Name the substance in the filtrate.  
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 35 CkiQZ dk xyukad Kkr djus ds fy, pkj Nk=kksa A, B, C rFkk D us izk;ksfxd O;oLFkk dh tks uhps n'kkZ;h 

xbZ gSaA ml Nk=k dk uke fyf[k, ftldh O;oLFkk lgh gSA vius mÙkj dh iqf"V nks fcnqa•Ê¥s esa dhft,A 
Experimental setups done by four students A, B, C and D for determining melting point of ice 

are shown below. Name the student whose arrangement is correct. Justify your answer in two 

points. 
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 36 Á∑§‡ÊÁ◊‡ÊÊ¥ mÊ⁄UÊ •fl‡ÊÊÁ·Ã ¡‹ ∑§Ë ¬Á̋Ã‡ÊÃÃÊ ÁŸœÊÁ̧⁄UÃ ∑§⁄UŸ ∑§ Á‹∞ ©¬ÿÊª „ÊŸ flÊ‹Ê ‚ÍòÊ Á‹Áπ∞–  ß‚ ¬˝ÿÊª ∑§Ë 

∞∑§ ◊„àfl¬ÍáÊ ̧‚ÊflœÊŸË ∑§Ê ©À‹π ∑§ËÁ¡∞– 

Write the formula for determining the percentage of water absorbed by raisins ?  State one important 

precaution for this experiment. 
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